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N°  |DESCRIZIONE LOCALI SUPERFICIE (mq) | Totale
1|DEPOSITO ATTREZZI 43,46
2|PALESTRA 282,25
3|SPAZIO CONNETTIVO 20,47
4|INFERMERIA 9,60
5|ANTI WC (INFERMERIA) 3,07 14,92
5|WC (INFERMERIA) 2,25
6|ANTI WC (SPOGLIATOIO 02) 2,25
7|LOCALE DOCCE (SPOGLIATOIO 02) 1,62 2705
8|WC (SPOGLIATOIO 02) 5,43 ’
9|SPOGLIATOIO 02 17,75
10|{SPOGLIATOIO 01 18,34
11[ANTI WC (SPOGLIATOIO 01) 1,62 27 66
12|LOCALE DOCCE (SPOGLIATOIO 01) 5,45 ’
13(WC (SPOGLIATOIO 01) 2,25
14|SPOGLIATOIO INSEGNANTI 3,29
15{WC (SPOGLIATOIO INSEGNANTI) 1,65 10.04
16|ANTI WC (SPOGLIATOIO INSEGNANTI) 3,88 ’
17 [LOCALE DOCCE (SPOGLIATOIO INSEGNANTI) 1,22

TOTALE COMPLESSIVOl

425,86






